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No. | BIEAB | #RERA R FRERH FUyRy N PS] FRyRy NP Uy N &%
1| H24.9.10 H24.98 (%9 BREFRIIF <152 <8.66 Nt
2| H24912 | H2481 |TSvHRI)— REBEe—TH <5.08 <5.85 T
3| H24912 | H249.11 |r<hk BREFRIIF <5.04 <5.80 Nt
4 H24.914 | H24911 |ZEpS5Y BE&E=TH <4.93 <5.68 TR
5| H249.21 | H249.20 |7AYAHUH= EAFAER 46.73 30.46 7719 | HEERE
6| H249.21 | H249.20 |FFr<hk AFEZTH 6.74 <5.82 952 |(EEEXRE
7| H24.10.10 | H24.109 |ZD(HIHt=F) B&E&—TH 7.33 <5.81 1216 |E#EERTE
8| H24.10.10 H246 [Cohilrg EAFREA <5.48 <6.31 el
9| H24.10.10 | H24.106 |[ZDZ(HH1=11) BEE 51.02 26.85 7787 |REMEXRE
10 H24.10.12 | H24.10.10 [ZDZ (A 1=17) BH&E&—TH 21.71 11.35 33.06 |HEERE
11| H24.10.15 | H24.10.15 [fa& BEMETHE <5.09 <5.87 Nt
12| H24.10.22 | H24.108 |k BRA <4.46 <5.13 Nt
13| H24.10.22 | H24.10.22 |BbBEAER BEMETH <4.12 <4.74 el
14 H24.10.26 | H24.101 |3k A <4.51 <5.19 el
15| H24.10.26 | H24.10.20 |CohSLr EMmit—TH <5.09 <5.86 Nt
16| H24.10.29 | H24.10.29 |4 BETE 6.46 <5.17 973 |HEEEXRHK
17| H24.10.31 | H24.1029 [LL M=1F e CRAEET | 928,92 142.98 371.90 |HAE(ER
18| H24.10.31 | H24.10.31 |k fETh#t <4.85 <5.58 T
19| H24.112 | H24.112 [IFShAE V&YE—TH <5.11 6.11 913 |EEEXRE
20| H24.112 | H24112 |HFEK —/BAFE% <4.56 <5.25 T
21| H24.119 | H24118 |EARLULV=IF FEREFES 30.83 17.89 48.72 | EEEXRE
22| H24.119 | H24.1020 |&DFELD HE=-TH <4.61 <5.31 T
23| H24.11.14 | H24.11.13 |1 T KEFT/\E 29.98 21.36 51.34 |(EEEXRE
24 H25.4.22 | H25.4.20 |LUL =1+ t#A—TH 78.07 4216 12023 |E#E(ER
25| H255.10 H255.9 [f=zITDZ EFAFYHR 11.56 8.56 2012 | HEEXRE
26| H25527 | H25527 |5 —JMH <4.56 <5.09 T
27| H25527 | H25522 |5 A <4.94 <5.52 T
28| H256.7 H25.6.7 |/KZE —/BAFET <4.96 <5.55 T
29| H25.7.10 | H25.79 [|=1+DC EAFILART 10.93 6.52 1745 |EEERE
30| H258.7 H25.8.3 |59 HHE—TH <4.77 <5.33 T
31| H25.828 | H25.8.28 |[JS5vyHR1— E#t—TH <4.62 <5.15 T
32| H26.1.10 | H26.1.7 [KGEK) EAFIRIER <5.15 <5.76 T
33| H26.3.14 | H26.3.10 |A5ZEDES EEDKR <4.84 <5.42 T
34| H26.4.7 H26.4.7 |LLM=IF(EAR) EFBEFUSR 37.81 14.81 52.62 |EE(EXRE
35| H26.4.16 | H26.4.16 |FEDTE(BX) EAFILART <5.21 <5.71 T
36| H26.5.12 | H26.5.11 |[f=5MDF PR 12.04 7.33 19.37 |EEEXRE
37| H265.16 | H265.15 [HHU BA <513 <5.76 T
38| H27.417 | H266.15 [B(HL.A1TY) WS LEZE <4.48 <5.01 T
39| H27.4.27 | H27.4.26 |I=HDF AEHES <4.63 <5.19 T
40| H275.1 H27.4.30 |ZLBHAD EAFILAR 219.94 57.74 27768 |EEERE
41| H2751 H27.419 |ZLBHAD N0 N 132.99 4356 176.55 |EEfERE
42| H2751 H27.419 |L&EIF N0 N <10.06 <11.24 et
43| H2758 H2756 [HoUV AMETES <5.06 <5.65 T
44| H2758 H2757 [bHoUVr KETeFBRIIE 10.57 <5.44 9.60 |[EEEXRE
45 H27518 | H27517 (bl L EfaRz L <4.76 <5.32 T
46| H27527 | H27527 |52 RNIEHIRFERR <4.78 <5.32 T
47| H27.7.10 H27.75 |#HBOD=E I=YOFN <4.96 <5.57 et
48| H27.99 H27.95 [EDZ(HA1=(T) N iET) <4.65 <5.33 et
49| H27.10.30 | H27.10.26 |## EvE <4.62 <5.42 T
50| H27.11.13 | H27.10.30 (&% N1 <4.78 <5.51 et
51| H27.12.11 | H27.12.10 [LLM=1T BE&EERTH 68.49 18.53 87.02 |HE{EXRE
52| H27.12.11 | H27.11.10 [LLM=1T BAE&EARTH 32.66 <5.52 3755 |HEERE
53| H28.2.24 | H27.10.20 |t H% A& &/NER A <4.87 <5.60 N dan
54| H28.5.6 H2855 [HoU KISTHIEFERIIE 6.99 <5.24 705 |(EEEXRE
55| H28.5.11 H2859 [bHoUr W B MRzl <4.98 <5.88 T
56| H285.23 | H28523 |5 RIGHIEF o ILFE <4.94 <5.69 N dan
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57| H28.6.1 H28530 |EhR&E Bas <5.04 <5.77 Tt
58| H28.6.24 | H286.18 |#BD=E BHEE& <5.04 <5.80 Tt
59| H28.7.8 H2752 |EAZEWL X&Il <451 <5.19 Tt
60| H28.9.28 | H289.27 |ZDZ(HHAt=IT) XE 5.70 <5.88 6.74 |EEEXRE
61| H29.4.27 | H29.4.26 |f=HDF AfEFt <7.10 <8.18 N fant
62| H295.19 | H295.17 |holf (TG A8 2 S A <7.10 <8.18 Tt
63| H29.6.14 | H296.13 |[hoUf =B SHRIR <7.00 <8.22 N fant
64| H30.2.2 | H30.1.10 |#ii& X& <7.10 <8.22 Tt
65| H30.5.23 | H305.22 |[HSU Wz E MRzl 5.85 <5.34 817 |EEERE
66| H30.9.26 | H309.24 |ZDZ(HHAt=IT) AFETHAR T 17.87 <5.30 17.31 | EEERE
67| R1.5.17 R15.15 [HioW Wiz E MRzl <5.29 <4.73 N fant
68| R1.85 R185 [#9 K&K <8.27 <9.35 T
69| R1.10.2 R1.9.30 |[EDI(HHAI=IT) JL &R Hh 21.09 <5.60 2363 |EEBEXRE
70| R2.4.10 R2.410 |HY Ba <6.00 <7.00 T
71| R2.4.15 R2.4.15 (&Y FERLE <487 <5.46 T
72| R2.4.17 R24.17 |[bbU ATET KA <19.50 <20.59 N fant
73| R2.4.20 R2420 [bbU ATET KA <4.90 <5.49 N fant
74| R24.22 R2.4.22 [t=50D3F ATET KA <4.90 <5.49 N fant
75| R2.4.24 R2.4.24 |1=5D3F A 5.10 <571 1458 |EEERE
76| R2.4.27 R2.4.27 [LETF AFNET <5.54 <6.20 T
77| R251 R251 |LEIT AFOET <4.74 <5.31 T
78| R258 R258 |fzIF7dDZ BA 496 <5.37 6.07 |EEEXRH
79| R25.11 R25.10 [f=l7DZ [iicypAzs! <4.78 <5.35 T
80| R25.13 R2511 [hiW iz E MRzl <4.98 <5.58 T
81| R25.15 R2515 [&F(LZ) RiEK <4.84 <5.59 T
82| R25.18 R25.18 |5 B\E <487 <5.62 TR
83| R25.20 R2520 (&3 (L% RiEK <4.79 <5.54 T
84| R25.29 R2529 |5z B\E <4.96 <5.77 TR
85| R2.10.7 R2.104 [ZDZ(HHA1=11) xX=E 12.92 <5.22 1513 | R#{EkRH
86| R2.10.9 R2.108 [ZDZ(HHA1=11) AFNET T Mt 34.30 <5.29 3141 | EEERTE
87| R2.10.14 | R21011 |ZDZ (a1t zﬁfﬂﬂmlﬁﬂb <4.80 <521 TR
88| R2.11.9 R2.119 [AZ ELDA—TH <4.81 <5.24 N dant
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